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Answer all of the following. Show your work. 

1. Seventy-two percent of Americans squeeze their toothpaste tube from the top. This and other not-so-serious findings are included in The First Really Important Survey of American Habits. Those results are based on 7000 responses from the 25,000 questionnaires that were mailed. 
a) What is wrong with this survey?

b) As stated, the value of 72% refers to all Americans, so is that 72% a statistic or a parameter?

c) Does the survey constitute an observational study or an experiment?

2. Identify the type of sampling (random, systematic, convenience, stratified, cluster) used when a sample of the 637,133 stockholders is obtained as described. Then determine whether the sampling scheme is likely to result in a sample that is representative of the population of all 637,133 stockholders.

a) A complete list of all stockholders is compiled and every 500th name is selected. 

b) At the annual stockholders’ meeting, a survey is conducted of all who attend. 

c) Fifty different stockbrokers are randomly selected and a survey is made of all their clients who own shares of IBM.

d) A computer file of all IBM stockholders is compiled so that they are numbered consecutively, then random numbers generated by computer are used to select the sample of stockholders.

e) All of the stockholder zip codes are collected, and 5 stockholders are randomly selected from each zip code.

3. a) When John F. Kennedy was elected to the presidency, he received 49.72% of the 68,838,000 votes cast. The election of all those votes is the population being considered. Is 49.72% a parameter or a statistic?

b) Part (a) gives the total votes cast in the 1960 presidential election. Consider the total number of votes cast in all presidential elections. Are those values discrete or continuous?

c) What is the number of votes that Kennedy received when he was elected to the presidency?

4.  A Gallup poll was taken two years before a presidential election, and it showed that Hillary Clinton was preferred by about 50% more voters than Barack Obama. The subjects in the Gallup poll were randomly selected and surveyed by telephone. An America Online (AOL) poll was conducted at the same time as the Gallup poll, and it showed that Barack Obama was preferred by about twice as many respondents as Hillary Clinton. In the AOL poll, Internet users respondent voting choices that were posted on the AOL site. How can the large discrepancy between the two polls be explained? Which poll is likely to reflect the true options of American voters? 
5. Define a voluntary sample response. Give an example.

6. What is a treatment group? Explain with an example.

7. What is a confounding variable? Give an example.

8. Give the boundaries of the following:

a) 126

b) 56.4

c) 8.24

d) 16.921

9. When Gallup and other polling organizations conduct polls, they typically contact subjects by telephone. In recent years, many subjects refuse to cooperate with the poll. Are the poll results likely to be valid if they are based on only those subjects who agree to respond? What should polling organizations do when they encounter a subject who refuses to respond?

10. List out atleast 30 important terms from what you have learned in this chapter. (Vocabulary)
